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PFR: V= Q, = 1000 m*/hr - 4.98 hr = 4980 m”

CMFR: V= Q- t, =1000 m*/hr - 721 hr=7.21<10° m*

2. 7] LA=H sZ7t 100 mg/L, FHO| 5x10* m’/hr@l @H=E CMFR HE{O|
Dd=E BSEE ME[StaX} ot} BtESEHE+ 1A B3 S MED 1XEtS Y7t

05 hr'Y O, CtS 220 ©3IA|R (steady state 7HH).

1) &+ 85 1 mg/LE 28517| 218t CMFRe| £L|E FIA|2. (57)

( ~ —1): L (100~ 1)=198 hr
0.5 hr
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0=QGC — QG —kG(V/2)
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3) 7l 29 A2 HZA CMFR A|AHEIO| L5106l RE+ & 1 mg/LE Ed5t7]
o grSx M R4 VE TotAR. (58)

t() i [(C;H/ 011t)1/2 - 1] - # * (10001/2 - 1): 122.5 hr

V=Q-t, =5x10"m*/hr - 122.5 hr =6.13 < 10° m?
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S.D. Bergen, S.M. Bolton, J.L. Fridley?| ==& "Design Principles for Ecological

Engineering”
(http://www.sciencedirect.com/science/article/pii/S0925857401000787)2| 205,
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ASHAI 2. (25H)

H

7= X (self organization), & H CHYd(complexity and diversity), HEf S

X}7|2| =3 (ecological resilience), 2 &S| &= W 2H(network systems), =2HE HE{S
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C=54 pg/m’

CR=11.3 m?*/day

EFD= EFX ED= 345 days/year X 57 years = 19665 days
BW=65.4 kg

AT= 27375 days

11.3 m3/day - 19665 days 1
65.4 kg 27375 days

CDI= (54 ug/m?’) . =6.70 pg/kg/day

5. RFE Ao 4F2 2479l A0 |'13H3P Cr=3F 22 Chronic Daily
[

Intake(CDO| SA5H91S T Ztzbo CiSh ot= A (Carcinogenic Risk/S THA|
2. (10%)

Compound CDI (mg/kg/day)
Tetrachloroethylene 134 x 10™

Arsenic 143 x 103

Dichloromethane (methylene chloride) 234 x 10*

EI-)
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a3 0 oot 2t SE 9| SFe,
Tetrachloroethylene: 0.052 kg - day/mg
Arsenic: 1.5 kg + day/mg

Methylene chloride: 0.0075 kg - day/mg
hatA 2p2bo| get=sd2,
Tetrachloroethylene: 1.34x10™* - 0.052 kg + day/mg =6.97 <10 °
Arsenic: 1.43<10" % - 1.5 kg + day/mg=2.15x10"*

Methylene chloride: 2.34<10"* - 0.0075 kg - day/mg =1.76 10 °



